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| 2- alive(X,Y.2). Z=t0paz?;

X = automatic Y =smd
smd 7 = panasonic ? ;
Z="fuji?;
Y =hmd
X = automatic 2 = superhmd ?
md
2 =twpaz?; yes
| 2- alive(X,smd,2).
X = automatic
md X = automatic
7 = panasonic ? ; Z="fuji?;
X = automatic X = automatic
md Z=1opaz?;
Z = superhmd ?
X = automatic
X = automatic Z = panasonic ?
md
7 = ultrahmd ? ; yes
| 2- alive(X.Y.fuji).
X = halfautomatic
md X = automatic
Z=1fuji?; Y=smd?;
X = halfautomatic X = halfautomatic
md Y=smd?
7 = topaz P
yes
X = haltautomatic | 2- alive(automatic,smd.Z).
7 = panasonic ?; Z=fuji?;
X = halfautomatic Z =1opaz ?
Y d
Z = superhmd 2 ; yes
| 2- alive(automatic, Y, fuji).
X = haltautomatic
m Y=smd?;
Z=ultrahmd ?;
no
no | 2- alive(X,smd,fuji).
| 2- alive(automatic,Y,Z).
X = automatic ? ;
Y =smd n
Z=fuji?; X = halfautomatic ?

Y =smd yes
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| 2- Fool = [iud,Lo,r.e,v.er], Fool=(iud.f.oxT).

Fool = liud forever]
T=(ever]

yes
|2- Fool = lu4,fo,reverl, Fool=liud,f,oreT].

" Fool = [iud, forever]
T=Iverl

yes
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| 7- A=2, A=5,

A=27n
Action (: for next solution, 4 for all solutions, RET to stop) 7;
A=35

VEs
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| ?-{A=2; A=5),Amod 2 == 0.
A=272;

no
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| - (A=2; A=S), Amod 2 =:=0,.
A=2

yes
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tp(automatic).
tp(halfautomatic).
tp{manual).
component(smd).
component(hmd).
automat(smd.fuji).
‘automat(smd,topaz).
automat(smd,panasonic).
automat(hmd,superhmd).
automat(hmd,ultrahmd).
using(automatic,smd),
using(automaric,hmd),
using(halfautomatic,smd).
using(halfautomatic,hmd).
alive(X,Y,Z):-

¢ tP(X).componeny(Y),automat(¥,Z),using(X, ¥).
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12 trace.
The debugger will first creep -- showing everything (trace)

e
{uace)
| 2- alive(automatic, Y,2).
11 Call: alive(automatic._16,_17) ?
2 2 Call: ip(automatic) ?
22 Exit: tp(automatic) ?
3 2 Call: component(_16) ?
3 2 Exit: component(smd) ?
4 2 Call: automat(smd,_17) ?
4 2 Exit: automat(smd, fuji) ?
5 2 Call: using(automatic,smd) ?
5 2 Exit: using(automatic,smd) ?
1

1 Exit: alive(automatic,smd, fuji) ?

Y = smd
Z=fuji?

yes
{trace}




